
7 класс 

1.ЛИНЕНЙНОЕ УРАВНЕНИЕ С ОДНОЙ ПЕРЕМЕННОЙ 

1. 

 
а) 6y = 216 ________________________________________________  

б)________________________________________________________  

в)________________________________________________________  

г)________________________________________________________  

Ответ: а)_________б)___________в)____________г)___________ 

2. 

  
Ответ: а)_________б)___________в)____________  

3. 

 
 Ответ:___________________________________________________________  

4. 

  
___________________________________________________________________

___________________________________________________________________

___________________________________________________________________

___________________________________________________________________  

Ответ: а) р = _____________________ б) р = ___________________________ 


